Electron Configuration

Do the whole electron configuration, the noble gas abbreviation, and find the 4 quantum numbers for each.

1. Ca

1s2 2s2 2p6 3s2 3p6 4s2 




[Ar] 4s2




n = 4



l = 0



ml = 0



ms = -½ 

2. Ca2+

1s2 2s2 2p6 3s2 3p6  




[Ar] 




n = 3



l = 1



ml = 1



ms = -½ 

3. V


1s2 2s2 2p6 3s2 3p6 4s2 3d3 



[Ar] 4s2 3d3  




n = 3



l = 2



ml = 0



ms = +½ 

4. Cu

1s2 2s2 2p6 3s2 3p6 4s2 3d9 




[Ar] 4s2 3d9  




n = 3



l = 2



ml = 1



ms = -½ 

5. Cu2+

1s2 2s2 2p6 3s2 3p6 3d9 



[Ar] 3d9  




n = 3



l = 2



ml = 1



ms = -½ 

6. P


1s2 2s2 2p6 3s2 3p3




[Ne] 3s2 3p3




n = 3



l = 1



ml = 1



ms = +½ 

7. P3-

1s2 2s2 2p6 3s2 3p6





[Ar]




n = 3




l = 1



ml = 1



ms = -½ 

8. C


1s2 2s2 2p2





[He] 2s2 2p2


n = 2



l = 1



ml = 0



ms = +½ 

9. Cl


1s2 2s2 2p6 3s2 3p5




[Ne] 3s2 3p5




n = 3



l = 1



ml = 0



ms = -½ 


10. Cl-

1s2 2s2 2p6 3s2 3p6





[Ar]




n = 3



l = 1



ml = 1



ms = -½ 


11. Ba

1s2 2s2 2p6 3s2 3p6 4s2 3d10 4p6 5s2 4d10 5p6 6s2  

[Xe]
6s2


n = 6



l = 0



ml = 0



ms = -½ 

12. Ba2+

1s2 2s2 2p6 3s2 3p6 4s2 3d10 4p6 5s2 4d10 5p6   
[Xe]




n = 5



l = 1



ml = 1



ms = -½ 

13. Ag

1s2 2s2 2p6 3s2 3p6 4s2 3d10 4p6 5s2 4d9



[Kr]
5s2 4d9


n = 4



l = 2



ml = -1



ms = -½ 

14. Ag1+

1s2 2s2 2p6 3s2 3p6 4s2 3d10 4p6 5s1 4d9


[Kr]
5s1 4d9


n = 4



l = 2



ml = -1



ms = -½ 

15. Rn

1s2 2s2 2p6 3s2 3p6 4s2 3d10 4p6 5s2 4d10 5p6 6s2  4f14 5d10 6p6 
[Rn]




n = 6



l = 1



ml = 1



ms = -½ 
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